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Mon 16th  
1st
Bob P & Robbie
59%

2nd
Dave C & Alan K
57%

Wed 18th 

1st
Paul Sc & Dave H
57%


2nd
Bob S & Sigurd
57%

Fri 20th 

1st
Michel C & Alan Kleist
62%

2nd
Sean & Jeremy
56%
Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
With Hand A  (a) what do you open? 
(b)
What would you open if you play Benjamin twos?

♠ QJ742
♠ AK98
♥ AKQJ9
♥ Q109
With Hand B you open 1NT and partner transfers with 2♥, 
♦ K
♦ A1076
what do you bid?
♣ AQ
♣ A9

Hand C
Hand D
With Hand C LHO opens 1♠ and this is passed to you, 
what do you bid?
♠ AK10865
♠ 1076532




♥ 7
♥ J86
With Hand D partner opens 1NT and you transfer with 2♥.
♦ Q54
♦ Q94
(a)
Partner bids 2♠, what do you do?
 

♣ 943
♣ K
(a)
Partner bids 3♠, what do you do?




Bidding Sequence Quiz

E
1♠
pass
2♥
pass



3♥
pass
4NT
pass

5♥
pass
6♥
pass

pass
dbl
all pass
What is the double – does it convey any special message.

Super-accept reaches a 23 point game

Board 18 from Monday 16th May
Dealer:
♠ 1076532




East
♥ J86

West

North(D)
East

South(B)
both vul 
♦ Q94

-

-

pass

1NT

♣ K


pass

2♥

pass

3♠
(1)
pass


4♠
(2)
all pass

♠ QJ4

N
♠ -

♥ AK42
W
E
♥ 753


♦ J

S

♦ K8532

♣ J8654


♣ Q10732



♠ AK98


♥ Q109



♦ A1076


♣ A9




(1)
What did you bid with this South hand B in this week’s quiz? This is a super maximum for a 1NT opener and well worth a super-accept, which I play as a non-minimum and certainly four trumps.
(2)
What did you bid with this North hand B(b) in this week’s quiz? This is the beauty of playing super-accepts. With no super-accept this hand would normally pass 2♠, but with a known 10 card fit it’s now worth game. . 
And what happened? 4♠=, 4♠-1, 5♣*-2 and 5♠-2.
The bottom lines:
· There are various ways to play super-accepts, simplest is to simply bid 3 of the suit. I personally like to have 16+ points and 4-card support but I do know of players who super-accept when playing a weak NT and others who super-accept with a maximum but only three trumps.
Light bids and psyches.
Psyches and extremely light bids are not allowed in this club. We have introduced the ‘Australian’ rule of 15 for light pre-empts of 2NT and above (points + two longest suit lengths), it’s the rule of 14 for 2♦/♥/♠. Sean opened 2NT (both minors) with the East hand on board 18 above and as it conforms with the rule it is quite acceptable and possibly worked well (depends upon whether the opponents would have bid and made 4♠ or not). But we have recently had a spate of unacceptable bids. Many were by beginners and these are obviously ignored. But one experienced player overcalled a 1♣ opening with 1♥ holding ♠74 ♥K8643 ♦J1084 ♣107. This is a psyche and unacceptable at our club. The psyche had the desired effect of confusing the opponent, but it was only temporary as I adjusted the score to what would have happened had there been no psyche. The generally accepted norm for a 1-level overcall is about 7-16 points; this can be stretched downwards for very distributional hands, but 4 points and a 5422 distribution is unacceptable.
Open a two-suiter with 2♣?



Board 24 from Wednesday 18th April

Dealer:
♠ 93



Table A
West
♥ 103

West(A)
North
East

South(C)
Love all 
♦ AJ72

1♠
(1)
pass

pass

pass
(2)


♣ 108762


Table B
♠ QJ742

N
♠ -

West(A)
North
East

South
♥ AKQJ9
W
E
♥ 86542

2♣
(1)
pass

2♦

2♠
♦ K

S

♦ 109863

dbl

pass

3♥

pass 
♣ AQ


♣ KJ5


4♥

♠ AK10865


♥ 7





♦ Q54


♣ 943


Table A:
(1)
What did you open with this West hand A(a) in this week’s quiz? I’m not that keen on opening 2♣ with two-suiters, but when you hold both majors and 22 points you really have to open with a forcing bid as otherwise there is a real possibility of a pass-out when game is on.

(2)
What did you bid with this South hand C in this week’s quiz? You pass, of course. If you double then that is take-out.

Table B:
(1)
This is the correct answer to question A(a). This hand is about 10 playing tricks, and with 22 points it’s worth a game-forcing opening. So if playing Benjamin twos - question A(b), I would open 2♦ rather than a non game-forcing 2♣.
And what happened? 1♠= twice, 5♥+1 and 4♥+2.

The bottom lines:

· With about 9½ or 10 playing tricks and 20+ points, open your strongest bid.
· When you hold 5 cards in both majors and loads of points, there is a good chance of a 1-level opening being passed out.

Dave’s Column
North
South
West

North

East

South
♠ J954
♠ AKQ1062
-


-


-

1♠
♥ 732
♥ 854
pass
2♠


pass

4♠
♦ AQJ10
♦ 73
all pass

♣ 86
♣ AQ



You are South, declarer in 4♠. West leads the ♥Q and East encourages. West continues with the ♥J, East over-taking with the ♥K and cashing the ♥A, West following with the ♥9. East now shifts to the ♣2. 

How should you continue? 

Dave’s Column Answer




Board 11 from Wednesday 18th May
Dealer:
♠ J954



Book bidding
south
♥ 732

West

North
East

South
love all 
♦ AQJ10

-


-

-

1♠

♣ 86


pass

2♠

pass

4♠

all pass
♠ 73
N
♠ 8


♥ QJ9
W
E
♥ AK106
 
♦ K652
S
♦ 984

♣ K954


♣ J10732
 

♠ AKQ1062



♥ 854




♦ 73


♣ AQ



West leads the ♥Q and East encourages. West continues with the ♥J, East over-taking with the ♥K and cashing the ♥A, West following with the ♥9. East now shifts to the ♣2. 

How should Declarer continue? 

After losing three ♥ ticks, you need the rest. Suppose you take a successful ♣ finesse at trick four? You can draw trumps, but you will still need the ♦ finesse to work, and if it does, you do not need the ♣ finesse. So win trick 4 with the ♣A, draw trumps, and play a ♦ to dummy’s ♦10. When that wins, return to hand with a trump, take a 2nd ♦ finesse and discard the losing ♣Q on the ♦A.
Dave’s  2nd Column



West
East
West
North

East

South

♠ K62
♠ AQ5

1♥

pass

2NT

pass
♥ AJ985
♥ K762
 
4♥

all pass
♦ Q6
♦ K5

♣ K104
♣ Q985
You are West, declarer in 4♥. North leads the ♠J, plan the play.

Dave’s 2nd Column Answer

Board 16 from Wednesday 18th May
Dealer:
♠ J1098



Bidding
West
♥ Q103

West

North
East

South
E-W vul 
♦ A1042

1♥


pass

2NT
(1)
pass

♣ A6


4♥
(2)
all pass

♠ K62
N
♠ AQ5



♥ AJ985
W
E
♥ K762
(1)
Jacoby 2NT 
♦ Q6
S
♦ K5
(2)
Minimal opening, no shortage or 2nd 5-card suit 
♣ K104


♣ Q985
 

♠ 743

 
♥ 4

 
♦ J9873
North leads the ♠J, plan the play.
♣ J732
An impulsive play is for West to win his ♠K to lead trumps immediately. He leads low to dummy’s ♥K and leads another ♥ back towards his ♥AJ. South’s discard reveals a ♥ loser but all is not lost. 
West wins with the ♥A and continues with a low ♦ towards dummy’s ♦K, but North hops up with his ♦A. After cashing his high trump, North exits in ♦’s, leaving declarer to play the ♣ suit himself. 
If West leads a trump to his hand to lead a low ♣ towards dummy’s ♣Q, he may well succeed. After the ♣Q wins, he finesses against South’s ♣J and loses only three tricks. 

How can East guarantee the game? After winning the first ♠ he must lead a ♦ before he leads trumps. After ♦’s are cleared, West can test trumps. When he discovers a trump loser, he leaves it at large and cashes his ♠ winners. Then he gives North his trump winner and North  is then end-played. North must either give West a ruff and discard or else open the ♣ suit. Either way West loses only one ♣ trick. 
And what happened at the Pattaya bridge club? 4♥= twice, 4♥-1, 3♥= and 2NT-1,

Bidding Quiz Answers

Hand A:
(a)
2♣, a 1♠ opening stands a real chance of being passed out.

(b)
2♦, this hand is too strong for a 2♣ opening playing Benjamin, if you rebid 2♠ it may be passed if you play that as non-forcing and if it goes 2♣ - 2♦ - 3♠ then a possible ♥ fit may be missed. 
Hand B:
3♠, with a maximum and four trumps, you should super-accept.
Hand C:
Pass. You cannot double even if you wanted to, as that is for take-out.
Hand D:
(a)
pass, obviously.
(b)
4♠. It’s this type of hand that makes super-accepting very important. With a known 4-6 fit and a maximum partner, 4♠ stands a real chance.
Bidding Sequence Quiz Answers

E
1♠
pass
2♥
pass
The double of a freely bid slam is usually played as a 


3♥
pass
4NT
pass
Lightner double. It asks for an unusual lead which very
5♥
pass
6♥
pass
often (as in this case) is dummy’s first bid suit. In the 
pass
dbl
all pass
actual hand 1 from Friday doubler had a ♠ void and the ♣A.

Current club championship standings

	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5

	1

2

3

4

5

6

7

8

9

10
	1780.0 Janne Roos
1738.4 Hans Vikman
1725.0 Tomas Wikman
	639.8 Per Andersson
638.4 Hans Vikman
627.6 Janne Roos
624.0 Lars Broman
622.5 Paul Quodomine
617.8 Paul Scully
612.4 Bob Short
604.4 Tomas Wikman
602.5 Jeremy Watson
601.7 Sean Burgess
	332.2 Per Andersson
326.2 Hans Vikman
325.3 Paul Scully
321.7 Lars Broman
318.9 Janne Roos
318.4 Dave Hurst
314.8 Bob Short
313.8 Paul Quodomine
312.2 Gerard Hardy
311.7 Jeremy Watson
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